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IQ Test Result

Marks: 19 of 19

Your competency: 100%

Time spent: 1:24

IQ Test Breakdown:
1. What is the next number in the following series?

1,3,8, 19,
Correct

2. If you take the first alphabet of each word in t
Correct

3. Which is the odd one out?
Correct

4. There are four boys. Tom is shorter than John. D
Correct

5. 3 cats, 2 parrots, 1 cow are put together. How m
Correct

any legs will be there in all?
6. 657- PUT, 758- TUB. What is PUB?
Correct

7. EAT- 5120, BEAT-25120. What is TREAT?
Correct

8. Cake: Bakery:: Beer: X

What is X?
Correct

9. We need to cut a cake in more than 6 pieces. How
Correct

10. The word “lier” can be written using only the le tters found in “mineral”
Correct

11. The mirror image of a clock at 2:45 p.m. will s
Correct

how the following time:

12. Writing backwards the number Four thousand eigh
Correct

13. Jimmy has 64 dollars, Jane has 48 dollars, Joll
Correct

14. How many meters will | be away from my home if
Correct

15. The sum of squares of all numbers from 1to 50  is a an odd number
Correct

16. (896)%-(205)? is divisible by 691
Correct

17. 20 hrs to day is equivalent to 20 days to the |
Correct

ength of January

18. The sum of all two digit numbers divisible by 3 is an even number

Correct

19. Reindeer: Fawn:: Llama:
Correct

lsurl

his proverb, Birds of same flock fly together, and

ave is taller than Tom but shorter than John. James

t hundred eighty five will read as Five thousand ei

y has 29 dollars. Two of them together can buy a to

| travel 5 metres towards north, take a right and t

reverse the order it will form the following word.

is shorter than John but taller than Dave. Who is shortest?

many cuts we must make atleast to get this?

ght hundred eighty four.

y worth 102 dollars.

ravel 4 metres and travel 5 metres towards south?
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